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3DGD�NHVHPSDWDQ�NDOL�LQL��SHQXOLV�PHQJXFDSNDQ�WHULPD�NDVLK�NHSDGD�VHPXD�SLKDN�\DQJ�WHODK�

PHPEDQWX�SHQJHUMDDQ�3UR\HN�$NKLU�LQL�

�� ,EX +DVDQDK� 3XWUL�� 6�7���0�7�� GDQ� ,EX� $WLN� 1RYLDQWL�� 6�67���0�7�� VHODNX� GRVHQ�

SHPELPELQJ� �� GDQ� �� \DQJ� WHODK� PHPEHULNDQ� PDVXNDQ� GDQ� GRURQJDQ� GDODP�

PHPELPELQJ�SHQXOLV�PHQ\HOHVDLNDQ�3UR\HN�$NKLU�LQL��

�� .HGXD� RUDQJWXD�� %DSDN� :DJLQR� GDQ� ,EX� :DULQDK� \DQJ� WDN� KHQWL� PHPEHULNDQ�

ZHMDQJDQ GDQ� GR¶D� VHKLQJJD� SHQXOLV� WDN� SDWDK� VHPDQJDW� GDODP� PHQ\HOHVDLNDQ�

3UR\HN�$NKLU�LQL��

�� $GLN�DGLN�SHQXOLV�\DQJ�VHODOX�PHPEHUL�KLEXUDQ�FDQGD�WDZD�GDQ�VHODOX�PHULQGXNDQ�

SHQXOLV�XQWXN�SXODQJ�NHUXPDK�

�� %DSDN�:DUGR\R�GDQ�,EX�7LWLN�EHVHUWD�NHOXDUJD�\DQJ�WHODK�PHPEHULNDQ�NHVHPSDWDQ�

NHSDGD�SHQXOLV�XQWXN�GDSDW�PHUDVDNDQ�EDQJNX�SHUNXOLDKDQ�

�� %DSDN�$QZDU�7DXILT� GDQ� ,EX�1XQXQJ� \DQJ� WHODK�PHPSHUDQWDUDL SHQXOLV�PHQXMX�

EDQJNX�SHUNXOLDKDQ�

�� ,EX� 3XWUL� \DQJ� VHODOX� PHPEHUL� GRURQJDQ� NHSDGD� SHQXOLV� ZDODXSXQ� MDUDN� \DQJ�

PHPEDWDVL�

�� 7HPDQ�WHPDQ�330�5-�%DQGXQJ�\DQJ�VHODOX��PHPEDQWX�SHQXOLV�EDLN�ODKLU�PDXSXQ�

EDWLQ�

�� *RRJOH� GDQ� <RXWXEH� VHEDJDL� SODWIRUP \DQJ� VDQJDW� PHPEDQWX� SHQXOLV� GDODP�

PHQ\HOHVDLNDQ�SHUPDVDODKDQ�3UR\HN�$NKLU�LQL�

�� /DSWRS� $VXV� 5\DQ� \DQJ� WHODK� PHQMDGL� SHQJJDQWL� ODSWRS� SHUMXDQJDQ� SHQXOLV� GL

NDUHQDNDQ�UXVDN�

��� 7HUNKXVXV�NHSDGD�)DWLPDK�/XOLDQVDUL�\DQJ�VHODOX�PHQJLQJDWNDQ�NHVHKDWDQ�SHQXOLV��

PHPEHULNDQ�VHPDQJDW EDLN�ODKLU�PDXSXQ�EDWLQ�GDQ�WLGDN�KHQWL�PHQJLQJDWNDQ�SHQXOLV�

XQWXN�VHJHUD�PHQ\HOHVDLNDQ�3UR\HN�$NKLU�LQL��


